Kultur

Apfel
Birne
Erdbeere
Gurke
Himbeere

Kirsche

Raps

Sonnenblume
Pfirsich

Tomate

Ohne

Bienen

10%
Fruchtbildung

55%
Fruchtbildung

1S5kg Ertrag

16-70%
Fruchtbildung

1-10 Samen/
Schote

81 Samen/
Bluhkopf

S5 Friichte/
Baum

11,3 kg/m?

Mit
Bienen

65%
Fruchtbildung

dreifacher
Ertrag

80%
Fruchtbildung

64kg Ertrag

64-98%
Fruchtbildung

67% mehr
Fruchtansatz

15-30 Samen/
Schote,

hoherer
Olgehalt

503 Samen/
Blithkopf

84 Friichte/
Baum

16,8 kg/m?

Volker/
ha

3-4
3-4
1-2
1-3
2

2
7-9

2-3



